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Задача №6254:

Sбок=1/2Pосн·h
a 16

17

ha

ha

16

17

8

Площадь шести 
равных 
треугольниковSбок=6SΔ

По т.
Пифагора:

Sбок

SΔ=½16·15=120

Sбок=6SΔ=6·120=72
0

Pосн=6·16=96

Sбок=1/2·96·15=
48·15=48(10+5)
=480+240=720

1 
способ

2 
способ

720



Задача №1950:

√17

4

V=⅓Sосн·Hпирамид
аправильная 
пирамидаоснование - 
квадрат

Sосн=16

?

диагональ 
квадрата

d=4√2

половина 
диагонали

2√2

2√2

По т.
Пифагора:

V=⅓16·3=16

16



Задача №6275:

А

В

С

D
O

5

R=13

L=18

12

А DH

O

13
12

Sсеч=?

SАВСD=AB·AD

ABCD - 
прямоугольник

18ΔAОН - 
прямоугольныйПо т.

Пифагора:

AD=10 SАВСD=18·10=180



Задача №6261:

Шары подобные 
фигуры

k=7, k³=49·7=(50-1)·7=350-7=343

343



Задача №6347:

данные конусы подобные 
фигуры

найдём коэффициент 
подобия 

ил
и 

х

2х

Н1=х Н2=3
х

k=1/3, k³=1/27

1 



Задача №6295:

цилинд
р

V=Sосн·H V=πR²·H

R1=9,H1=8 R2=4,H2=9

V1=πR1²·H1 V2=πR2²·H2

V1=π9²·8 V2=π4²·9

4,5



Задача №6425:

S=4πR²

S1=4π6²=4π·6·
6

R1=6 R2=3

S2=4π3²=4π·3·
3

S1

S2

4π·6·
6
4π·3·
3

== 4



Задача №6367:

кону
с

V=⅓Sосн·H V=⅓πR²·H

V=9
π

H=3R=?

9π=⅓πR²·
3

R=3



Задача №6407:

Sбок=πRLкону
с

R1=3, L1=6 R2=4, L2=9

Sбок1=πR1L
1

Sбок2=πR2L
2

Sбок1=π3·6 Sбок2=π4·9

Sбок
1

Sбок
2

π4·
9π3·
6

== 2



Задача №6387:

кону
с

V=⅓Sосн·H V=⅓πR²·H

R1=3, H1=6 R2=9, H2=7

V1=⅓πR1²·H
1

V2=⅓πR2²·H
2

V1=⅓π3²·6 V2=⅓π9²·7

V2

V1

⅓π9²·
7⅓π3²·
6

= = 10,5



Задача №6444:

цилинд
р

Sбок=2πRH

R1=9, H1=8 R2=12, H2=3

Sбок1=2πR1H
1

Sбок2=2πR2H
2

Sбок1=2π9·8 Sбок2=2π12·3

Sбок1

Sбок2
=

2π9·
8
2π12·
3

= 2



Задача №6439:

кону
с

V=⅓Sосн·H V=⅓πR²·H

V=9
π

R=3H=?

9π=⅓π3²·
Н

H=3



Задача №6494:

5
6

√29

ΔD1DC - 
прямоугольныйпо т.
Пифагора

2

V=abc V=60



Задача №6449:

х

2х

данные конусы подобные 
фигуры

найдём коэффициент 
подобия 

ил
и 

Н1=х Н2=3
х

k=1/3, k³=1/27

270 



Задача №6739:

призм
а

4

4√3

V-? V=SоснН

призма 
правильнаяОснование 
– 
правильны
й 
треугольни
к

V=4√3· 4√3=4·36=144



Задача №6514:

Пусть a=1, b=2, 
c=x

V=6 V=abc 6=2c c=3

Sпов=2(ab+bc+ac) Sпов=2(2+6+3)=22



Задача №6800:

3
√58

2

по т.
Пифагора

7

Sосн=½7·3=21/
2
V=21/2·2=21

V-? V=Sосн·Hпризм
аОснование – 
прямоугольн
ый 
треугольник

Sосн=½ab


